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B 0.00 0.00 0.04 0.31
c 7|EtH| & 72 0.00 0.00 0.00 0.00
- Cheoioy, B2 0.00 0.00 0.00 0.02
ZARNYR
?j” Mb|A aaz 0.00 0.00 0.00 0.01
TR 3t 0.00 0.00 0.00 0.04
0.00 0.00 0.00 0.02
0.00 0.00 422 0.13
0.00 0.00 0.25 0.01
HEXf A 0.00 0.00 0.25 0.01
0.00 0.00 0.11 0.00
0.00 0.00 484 0.14




C-F 7|Ete| g F2 0.00 0.00 0.03 0.00

Ch=0foy, S+ 0.00 0.00 0.64 0.02
I =zAeagss
=SH N 0.00 0.00 0.76 0.02
N MH|A =8
TTE =
A 0.00 0.00 141 0.04
S 2HA| 0.00 0.00 0.75 0.02
RAH2-E AL 0.00 0.00 0.01 0.13
THOR | AL 0.00 0.00 0.01 0.09
HER| A 2HS| AR (A EFARE 0.00 0.00 0.00 0.01
UBEALR 22| 2| A 0.00 0.00 0.00 0.00
HagHA 0.00 0.00 0.02 0.22
Cee 7|EtH|8 72 0.00 0.00 0.00 0.00
o o Ch=0f0y, S+ 0.00 0.00 0.00 0.02
ZARMYE S
=4 0.00 0.00 0.00 0.02
e MH|A 42
T -
A 0.00 0.00 0.00 0.04
S H2HA| 0.00 0.00 0.00 0.02
A28 AL 0.00 0.00 0.01 0.12
ZHOf S| A 0.00 0.00 0.00 0.03
HEX A E BHS| AHA EFI XY 0.00 0.00 0.00 0.01
LHEARR 22| S| A 0.00 0.00 0.00 0.00
HaEHA 0.00 0.00 0.02 0.16
s 7|EtH| g 72 0.00 0.00 0.00 0.00
o o Ch=0f0y, S+ 0.00 0.00 0.00 0.02
ZARMYR S
=4 0.00 0.00 0.00 0.02
g MH|A S5
T -
2A 0.00 0.00 0.00 0.03
S ehA| 0.00 0.00 0.00 0.02
XHAb2-E A} 0.00 0.00 0.00 0.09
o s| A 0.00 0.00 0.00 0.00
HER| A 2B AL EF SR 0.00 0.00 0.00 0.00
UHEARR 22| S| A 0.00 0.00 0.00 0.00
Rt 0.00 0.00 0.00 0.09
s-P 7|EtH|8 F2 0.00 0.00 0.00 0.00
o o Cte=0foy, S+ 0.00 0.00 0.00 0.02
A _E_M O %
EX } L 0.00 0.00 0.00 0.02
gz MH|A =2
T T -
oA 0.00 0.00 0.00 0.03
SHAA 0.00 0.00 0.00 0.02
A2 A} 0.00 0.00 0.00 0.08
o3| At 0.00 0.00 0.00 0.00
HEX A E S| AL EFI X 0.00 0.00 0.00 0.00
UHEARR 22| S| A 0.00 0.00 0.00 0.00
HaoHA 0.00 0.00 0.00 0.08
SR 7|EtH| 8 F2 0.00 0.00 0.00 0.00
o o Che0foy, S/s+=& 0.00 0.00 0.00 0.01
ZTAFREMQID =
EX R L OO 0.00 0.00 0.00 0.03
gz qH|A =2
T T -
oA 0.00 0.00 0.00 0.04
SHAA 0.00 0.00 0.00 0.04
* HEO| XS (7| 7HE T CHH| H|&2 LIEFS L CH
|ZAHH| 8, T3 So| O|Ef & ZAHE § HEOA FA4NHENoZ XEE HEoZA -T2 HAstAYLICH
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S5+, HEHE BE 83l X7t HEE 8ol RFHE B0 H 82| #+F2 HE =Xt AT T B2 2 =l & = ASLICL

C SH4H 2 gA) TV ojof-S 7444248 B) 72 &7 (A+B)

SANAIRITUS NN TR 28 | o0 20 %0
g7 0.0006 0.1654 0.166
A 7| 0.0 0.0 0.0
=2 0.6459 0.1623 0.8082
Ae 7| 0.0 0.0 0.0
g7 0.5869 0.1465 0.7334
c 7| 0.0 0.0 0.0
27 1.2383 0.1527 1.391
CF 7| 0.0 0.0 0.0
=2 0.576 0.1663 0.7423
Coe 7| 0.0 0.0 0.0
27 0.8847 0.1397 1.0244
s 7| 0.0 0.0 0.0
=2 0.6659 0.1387 0.8046
s.p 7| 0.0 0.0 0.0
27 0.4073 0.1378 0.5451
SR 7| 0.0 0.0 0.0
27 0.3342 0.156 0.4902

F1) EE4H|EH|E(Total Expense Ratio)0|2t 2E&E 4 & HEO|A REHOHE B0t 7|EHH & SHS At AFTUHESHE NAH 7|F)22 Lz HIEZM 31T
871 & BXAL RES & B Hlﬂ*%f—% LHERE L

ZF2) Ojof-S74 === H|E0[2t OjOf- S/ ++2 & At AETH(EH|8 MY 7|F)22 Lz HIEZM 3liY 2872 & FAAIL RES HOf.SH++22 +F2

LIEFE L CY.

7. FXIXHAOHOHLH S

HojF4 72 L M Eot 212 387| HHSIHE F0| BB So I7| U 212 387| S0 ool HEIL 233 FAH2HO| WES
k. OjOH2| 0] £2 HS HINHS22(0.1%He)) L SHHUHHE 03%) LW 2 MH EXXI7} SEteh] = HEo| B8O STHLC

> OHOHFEA 72 S 2| HE (EH9l: et el %)
SEEHAR TS ASRIEFA S 28
ot == o = Ofoq 2| e P
2 2 2 =] She7| 2t EE
20,848 1,626 4,210 390 39.81 157.95
F) oie 287/2 & HEe FATIA S 13T 287I7H T HRY FAQ BINAOR Ly HIg
> A2 327 F4 ojoj2|HE 0| (9l %)
REEAAR TS USREFA S 28
2022-07-03 ~ 2022-07-03 2022-07-03 ~ 2022-07-03 2022-07-04 ~ 2022-10-03
0.00 0.00 39.81
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